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30197321)Ywphy FCUR hwin 400 3 1600
30197234If&m.ma A 4 $npduwnh 21* 2.9 FCUR wnncth 2550 10} 25500
30194320)%6wgpwlwl pnLnp PFCUR hwwn 150 6 900
30197231 enpwuywlwly /ynhdEpwihl/ $uwjg FCUR wnncth 1000 1 1000
30197232)@npwwwlwl wpwqwlwp /pnRjw/ FCUR hwun 60 30§ 1800
30192121 9unhywynp gphs /ub-Yuwnejn-Jupdhp/ FCUR hwuwn 100 23 2300
30192100jNEwnhl FCUR hunn 150 4 600
22811170j@nLnp LznLdubph hwdwp/Yuysncl/ FCUR nnncth 300 5 1500
39263200§Spwublywlywjhlu ghpp PCUX hwuwn 450 2 900
24911300jUnuplé pnrh unjwpwpepnph PCUR hwuwn 350 3 1050
39263420jUdpwly JEwnnwnjw thnpp FCUI wnincth 100 4 400
30192137jUwunhwn gpwdhinkt JhgnLlyny PCUR hwuwn 100 4 400
30197112 4wphsh JEwnnwnuwpwpbp Jhghl FCUR wnncth 100 4 400
30192114|Rwlwp 2nnwduh FCUR hwuwn 250 1 250
30192760jUnh; unynpwlwl PCUR huwn 150 2 300
30197121 untqwd EplwEjw FCUX wincth 150 31 450
22811100 Twuwdwwnjwlltp FCUR hwwn 500 12 6000
30192160)jcwnphfulitp PCUR hwn 250 1000
30197331 hwhhs pwlununy FCUR hwwn 800 1600
30199232)'6pwn A 4 pnprh hwdwnp FCUX hwin 60 10§ 600
39292510}Lwlnl wjjwuwnhy FCUR hwn 150 450
30197122 unqwd wwumndwuk qfuhlyny FCUR wnncth 350 700
30192720)96wlzhs /Jwpyknp/ FCUR hwn 150 300
33761000|l3nLrua qnrqupwUuh nnepnuny FCUI hwun 100 68| 6800
31531210]k EYwnpwiwl pwidy 100 Jwin FCUR hwwn 100 40 4000
31531220)E EYwnpwlwl pwdu 150 Jwwn FCUX hwwn 200 30 6000
39835000)3wwnwly JwppbnL ann FCUR hwwn 550 1100
39812600jUwpnnn JwénLyubp b thnzh /nwupwy/ FCUR hwn 450' 2700




39831240|Uwppnn UnLpbp /dwty |rcux hwwn 150| 10] 1500
39831245)3tnph htnnLl ofiwn lrcul hwn 450 3I 1350
39831270jUwynLlgq FCUR hwn 400 3] 1200
39831280jUwwhh Jwppnn hknncy PCUX hwn 500] 3 1500
36831247|Uul2nl111 Uynip funnnulubph hwhwhguwbhs /Ynnn/ PCUR hwwn 600| 2 1200
18421130jaknlng IFI:UR hwwn 3501 10§ 3500
39224332|Mn); Eplwpk IF![:LR hwin 1500 2 3000
39224341|Ur1ptu11l||1 wjwumndwuhg IFI:UR hwuwn 900 2 1800
39831240' Uwppdwl UynLpbp/nndbumnnu/ [PCUR hwwn 1050 1 1050
398393DOIanwphLul| FCUX hwuwn 450 2 900
39525100f®nznL hwywpdwl Yunpukp FCUI hwn 500| 2 1000
39831283|Rwwnwl JwppbnL (wp FCUR hwn 700] 12 8400
39836000jUy & FCUX hwun 1000 12 12000
39522250]®nznL hwydwpdwlu Yuinp PCUR hwun 100 10 1000
33141112jUyknwluh N210 FCUR wnith 50 62 3100
33141134fdhpwlwwy  7*14 fuinbkphy/ FCUR winntth 100 400
33631170|SEwnpwghlyht 100UgN210 PCUI nncth 100 300
33141115)Fwdpwl 50qnp PCUR nnith 120 960
33661122 Mwpwgbwnwdng FCUX wnncth 60 10 600
33661721jULwqhl 500U FCUR wnncth 70 10 700
2224600082 np Eph/uwynpun wuqqujwgunn uthpky/ FCUI $1 3200 10| 32000
33662170jUuln$tlu FCUR winLth 160 10] 1600
33693000)jhunnUbEwnwghl FCUX wnincth 350 1 350
37451416 |qunwlutp pwultwnpnih FCUR hwn 5000 10 50000
44521120|nnwl thwlwl FCUR hwwn 2800 4 11200
44411100 Jwgwpwlh dnpuwly FCUI hwwn 2500 3 7500
44111414 ||jwinkpuwtbpy FCUR Lhwp 8500 2 17000
44921500 |s6thwiwshy FCUR wuwpl 3500 2 7000
44192700 |ubkplywagwliwy FCU3 hwin 2300 1 2300
44811300 jnLnwlkply FCU3 Uag 2500 2 5000
44423400|gnLgwliwl uu huwin 20000 1 20000
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